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(Bf7: b))
N Ak = N = A =
I = = = 5]
L T T 2 % W B A z &
FER 7 4,276 9,084 13,360 11,110 1,595 12,705 26,065
ik 8 9,216 22,470 31,686 10,630 1,505 12,135 43,821
ERE 9 15,476 38,586 54,062 5,705 630 6,335 60,397
SRR 104F 16,986 45,196 62,182 825 65 890 63,072
F R 11AE 20,308 56,024 76,332 76,332
R 124F 17,790 66,576 84,366 84,366
B 134F 19,776 63,604 83,380 83,380
R 144F 16,086 54,846 70,932 70,932
B 154F 19,980 57,202 77,182 77,182
S R 164F 28,438 67,624 96,062 96,062
FERR 1T 29,142 61,991 91,133 91,133
- B 184F 34,141 68,058 102,199 102,199
R 194E 30,967 63,147 94,114 94,114
S B 204F 27 564 51,411 78,975 78,975
R 214F 19,036 41,774 60,810 60,810
SRR 2.2 4F 19,148 56,271 75,419 75,419
2. AVTFTEYARNRK
Ak H
H 1 X V2N =
A & R fil H fil A
! H e P 370 128 249
N2 5,194 1,424 3,770
9 H (& ] 431 168 263
[N 5,624 1,776 3,348
3 H 1 b 451 163 288
[N 6,072 1,686 4,386
4 H e P 465 146 319
N2 6,618 1,508 5,110
: H (& # 530 182 348
N 7,118 1,868 5,250
g H 1 b 530 154 376
[N 7,583 1,636 5,947
- H e P 486 144 349
N2 6,872 1,505 5,367
8 H (& ] 487 178 309
[N 6,467 1,828 4,639
9 H 1 b 426 143 283
Mo 5,859 1,584 4,275
0 A 1 # 449 142 307
N2 6,165 1,516 4,649
11 H (& # 436 132 304
N 6,022 1,416 4,606
19 A 1 b 425 132 293
Mo 5,825 1,401 4,424
SRR 22 4F e % 5,486 1,812 3,674
& & 2 75,419 19,148 56,271
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H2 AEarFFEIRGESE. 207 4 — MAFE (TEU) 2& 5. (7 : #)
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3. AVTIFEYRERNX (BT : b )
H A bt H

R I i H i A & 3t
23 | G e} 126 3,222 3,348
J 31 | B ¥ . L 76 76
Xls = o o m & & 630 630
i 81 | K P i 18 36 54
/N =t 144 3,964 4,108
91 | JH VN 100 100
g 92 | M %) 260 260
o 101 | #f HE 5 18 18
" N en 100 278 378
131 | A 73 402 402
L[ a1 | sk 315 H 11 11
JE 162 | A %] 671 671
ool 211 | 9 & & i Y| 218 2,482 2,700
/I i 229 3,555 3,784
221 | i 280 280
4 | 231 | 3 # Ei E] 40 1,652 1,692
B | 241 & E] ! m 78 825 903
B | 252 | 5% X = Ed) HL 139 139
4 255 | H L] =1 B i 2,382 2,631 5,013
T 256 | = o fth #@oo% B M 33 33
% | 261 | pE E S H {1 992 1,027 2,019
Mol og2 | & 2 % i 108 1,024 1,132
/I i 3,600 7,611 11,211
it 301 | %= B i 144 144
2 | 351 | Ak i B fit 96 2,312 2,408
T 361 | 1k & JE ) 56 504 560
%1371 | b B AR - 2OmILETER 768 8408 9,176
" /I =t 920 11,368 12,288
381 | #& . I % 7 596 596
391 | % KUK OB kWO 120 212 332
ol 401 L o il B HE L % W 215 215
T |4 w i 1,620 1,620
) 421 | = & B i 469 18,100 18,569
* 422 | Kk o 36 36
M| 493 K 18 18
25 1 F o fih B OB T ¥ & 18 18
/N it 643 20,761 21,404
41 KR - BEE - FE B 0D 1,546 1,546
442 | XEE - EEEEH G - 2 1,704 1,704
s E B e i i 1,358 1,358
L l4a = o M H H & 676 247 923
2 | 451 | O N G:1) i 1,896 63 1,959
= 461 | R i) i 1,279 1,279
71 1 % o fih W o T ¥ 360 462 822
/N i) 2,932 6,659 9,591
Lo 491 | H il H & # 10,400 10,400
%‘jﬁ 501 | BY RE W M Mok IR k) 64 64
i 521 | # % i w o 180 2,011 2,191
/N i 10,580 2,075 12,655
= i 19,148 56,271 75,419




